

A Central Limit Theorem for Linearly Positive Quadrant Dependent Random Fields

Hyun-Chull Kim¹⁾

Abstract

In this note, we obtain the central limit theorem for linearly positive quadrant dependent random fields satisfying some assumptions on the covariances and the moment condition $\sup E|X_j|^3 < \infty$. The proofs are similar to those of a central limit theorem for associated random field of Cox and Grimmett.

1. Introduction

A random field is a collection of nondegenerate random variables indexed by Z^d and is denoted by $\{X_j; j \in Z^d\}$. In the last years there has been growing interest in concepts of positive dependence for random fields. Such concepts are of considerable use in deriving inequalities in probability and statistics.

Lehmann[6] introduced a simple and natural definition of positive dependence :

A random field $\{X_j; j \in Z^d\}$ is said to be pairwise positive quadrant dependent if for any real r_i, r_j and $i \neq j$,

$$P\{X_i > r_i, X_j > r_j\} \geq P\{X_i > r_i\}P\{X_j > r_j\}.$$

A much stronger concept than positive quadrant dependence was considered by Esary, Proschan and Walkup[4]:

A random field $\{X_j; j \in Z^d\}$ is said to be associated if for any subset $A \subset Z^d$ and for any pair of coordinatewise increasing functions f, g on $R^{\#A}$

$$\text{Cov}(f(X_i; i \in A), g(X_j; j \in A)) \geq 0,$$

whenever the covariance is defined. Here $\#A$ is the cardinality of A .

Newman[8] was the first who showed that for positive dependent random fields approximate uncorrelatedness implies approximate independence, such that useful limit theorems can be obtained.

1) Department of Mathematics, Daebul Institute of Science and Technology, Young Am(526-890), KOREA.

In the following years several extensions and generalizations of these results were given (for examples [3, 4, 7, 9]). Most of these results, however, cannot be applied to weaker concepts of positive dependent random fields.

Newman[7] has shown that a stationary associated random field $\{X_j: j \in Z^d\}$, having the property that

$$0 < \sigma^2 = \sum_{j \in Z^d} \text{Cov}(X_0, X_j) < \infty, \tag{1.1}$$

satisfies the central limit theorem.

Cox and Grimmett[3] have shown that the assumption of stationarity may be relaxed and replaced by certain conditions on the moments of the X 's, that is, instead of (1.1) Cox and Grimmett[3] proved the following central limit for associated random fields using conditions on the coefficient of maximal covariance

$$u(r) = \sup_{1 \leq k \leq n_1} \sum_{j: |j-k| \geq r} \text{Cov}(X_j, X_k)$$

where $|j-k| = \sup\{|j_i - k_i| : i = 1, \dots, d\}$.

Theorem A (Cox and Grimmett(1984)). Let $\{X_j: j \in Z^d\}$ be an associated random field with $EX_j = 0$. Assume

- (i) $\inf_{1 \leq j \leq n_1} \text{Var}(X_j) > 0$,
- (ii) $\sup_{1 \leq j \leq n_1} E(|X_j|^3) \leq \infty$,
- (iii) $u(0) < \infty$, $u(r) \rightarrow 0$ as $r \rightarrow \infty$.

Then $\frac{S_{n_1} - ES_{n_1}}{\sqrt{\text{Var} S_{n_1}}}$ is asymptotically normally distributed as $n \rightarrow \infty$.

The purpose of this note is to extend Theorem A to a linearly positive quadrant dependent random fields (see Definition 2.1) using the similar methods to those of Cox and Grimmett(1984).

The preliminaries and results are stated in Section 2. The proofs of our theorems as well as some lemmas are given in Section 3.

2. Preliminaries and Results

Newman(1984) first introduced the concept of linearly positive quadrant dependence. We extend this concept to the random field.

Definition 2.1. A random field $\{X_j; j \in Z^d\}$ is said to be linearly positive quadrant dependent if for any disjoint subsets $A, B \subset Z^d$ and positive r_j 's,

$$\sum_{i \in A} r_i X_i \quad \text{and} \quad \sum_{j \in B} r_j X_j \quad \text{are positive quadrant dependent.}$$

For any fixed $l = 1, 2, 3, \dots$, we let $m = [n/l]$. Put

$$\begin{aligned} S_{n_1} &= \sum_{1 \leq j \leq n_1} X_j, \\ Y_j(l) &= \sum_{(j-1)l < i \leq jl} X_i \quad \text{for } 1 \leq j \leq m_1, \\ S_{m_1} &= \sum_{1 \leq j \leq m_1} Y_j(l), \quad Z(n) = S_{n_1} - S_{m_1}, \\ \sigma_{m_1}^2 &= \text{Var}(S_{m_1}), \quad s^2(n, l) = \sum_{1 \leq j \leq m_1} \text{Var}(Y_j(l)), \\ \sigma_{n_1}^2 &= \text{Var}(S_{n_1}^2). \end{aligned}$$

Note that $Y_j(l)$ and $Z(n)$ depend upon the choice of l and that $m = \left[\frac{n}{l} \right] \rightarrow \infty$, as $n \rightarrow \infty$.

Lemma 2.2. Let $\{X_j; j \in Z^d\}$ be a linearly positive quadrant dependent random field with $EX_j = 0$, $EX_j^2 < \infty$. Then we obtain

$$\limsup_{n \rightarrow \infty} \frac{\sigma_{n_1}^2}{s^2(n, l)} \leq 1 + \frac{2d}{lc_1} \sum_{r=1}^l u(r) \quad (2.1)$$

where $c_1 = \inf_{1 \leq j \leq n_1} \text{Var}(X_j) > 0$.

Put

$$\begin{aligned} \varphi_{n_1}(t) &= E(\exp(it S_{n_1})), \\ \varphi_{n,l}(t) &= E(\exp(it S_{m_1})), \\ \varphi_{n,j}(t) &= E(\exp(it Y_j(l))). \end{aligned}$$

Lemma 2.3. Let $\{X_j: j \in Z^d\}$ be a linearly positive quadrant dependent random field with $EX_j=0$, $\sup_{1 \leq j \leq n_1} E(|X_j|^2) < \infty$. Then we have the following statements :

$$\limsup_{n \rightarrow \infty} |\varphi_{n,1}(\frac{t}{\sigma_{n_1}}) - \varphi_{n,t}(\frac{t}{s(n,l)})| \leq |t| \frac{2d}{lc_1} \sum_{r=1}^l u(r), \tag{2.2}$$

$$\begin{aligned} \limsup_{n \rightarrow \infty} |\varphi_{n,t}(\frac{t}{s(n,l)}) - \prod_{1 \leq j \leq m_1} \varphi_{n,j}(\frac{t}{s(n,l)})| \\ \leq \frac{dt^2}{lc_1} \sum_{r=1}^l u(r), \end{aligned} \tag{2.3}$$

$$\limsup_{n \rightarrow \infty} \left| \prod_{1 \leq j \leq m_1} \varphi_{n,j}(\frac{t}{s(n,l)}) - \exp(-\frac{t^2}{2}) \right| = 0 . \tag{2.4}$$

Theorem 2.4. Let $\{X_j: j \in Z^d\}$ be a linearly positive quadrant dependent random field with $EX_j=0$. Assume

- (i) $\inf_{1 \leq j \leq n_1} \text{Var}(X_j) > 0$,
- (ii) $\sup_{1 \leq j \leq n_1} E(|X_j|^3) < \infty$
- (iii) $u(0) < \infty$, $u(r) \rightarrow 0$ as $r \rightarrow \infty$

$$\text{where } u(r) = \sup_{1 \leq j \leq n_1} \sum_{j|k| \geq r} \text{Cov}(X_j, X_k).$$

Then $\frac{S_{n_1} - ES_{n_1}}{(\text{Var}(S_{n_1}))^{1/2}}$ is asymptotically normally distributed as $n \rightarrow \infty$.

3. Proof

Proof of Lemma 2.2 : First we show that

$$c_1 n^d \leq \sigma_{n_1}^2 \leq c_3 n^d \tag{3.1}$$

where $c_3 = u(0)$. The left hand side of (3.1) follows from

$$\sigma_{n_1}^2 = \sum_{1 \leq j \leq n_1} \text{Var}(X_j) + \sum_{1 \leq i \neq j \leq n_1} \text{Cov}(X_i, X_j) \geq c_1 n^d$$

since the X_j are linearly positive quadrant dependent. That is, the X_j are nonnegatively correlated and the right hand side of (3.1) follows

$$\sum_{1 \leq i, j \leq n_1} \text{Cov}(X_i, X_j) \leq \sum_{1 \leq i \leq n_1} u(0) = u(0)n^d \leq c_3 n^d.$$

By the similar arguments we have

$$(ml)^d c_1 \leq s^2(n, l) \leq \sigma_{m\mathbf{1}}^2 \leq (ml)^d c_3 \quad (3.2)$$

and

$$\sigma_{m\mathbf{1}}^2 \leq \sigma_{n\mathbf{1}}^2. \quad (3.3)$$

By expanding $S_{n\mathbf{1}}$ in terms of the $Y_j(l)$'s we find that

$$\sigma_{n\mathbf{1}}^2 = \text{Var}(Z(n)) + 2\text{Cov}(Z(n), S_{m\mathbf{1}}) + \text{Var}(S_{m\mathbf{1}}). \quad (3.4)$$

Since $Z(n) = \sum_{m\mathbf{1} \leq j \leq n\mathbf{1}} X_j$

$$\text{Var}(Z(n)) \leq c_3 l^d ((m+1)^d - m^d), \quad (3.5)$$

$$\text{Cov}(Z(n), S(n, l)) \leq c_3 l^d ((m+1)^d - m^d). \quad (3.6)$$

Thus (3.2), (3.5) and (3.6) yield that

$$\frac{\text{Var}(Z(n)) + 2\text{Cov}(Z(n), S_{m\mathbf{1}})}{s^2(n, l)} \leq \frac{3c_3 l^d \{(m+1)^d - m^d\}}{c_1 (ml)^d} \rightarrow 0 \quad \text{as } n \rightarrow \infty. \quad (3.7)$$

For the final term in (3.4)

$$\text{Var}(S_{m\mathbf{1}}) = s^2(n, l) + \sum(n\mathbf{1})$$

where

$$\begin{aligned} \sum(n\mathbf{1}) &= \sum_{1 \leq i \leq m\mathbf{1}} \sum_{1 \leq i' \neq j \leq m\mathbf{1}} \text{Cov}(Y_i(l), Y_{j'}(l)) \\ &\leq \sum_{1 \leq i \leq m\mathbf{1}} \sum_{a \in \Lambda_i} \sum_{b \in \Lambda_i} \text{Cov}(X_a, X_b) \end{aligned} \quad (3.8)$$

and $\Lambda_i = \{\underline{a} \in Z^d: (i-1)l < \underline{a} \leq il\}$. But

$$\sum_{\underline{a} \in \Lambda_i} \sum_{\underline{b} \notin \Lambda_i} \text{Cov}(X_{\underline{a}}, X_{\underline{b}}) \leq 2dl^{d-1} \sum_{r=1}^l u(r) \tag{3.9}$$

since there are at most $2dl^{d-1}$ points of Λ_i which are within distance r of some point outside Λ_i .

Combining (3.2), (3.4) and (3.7)-(3.9) we find that

$$\limsup_{n \rightarrow \infty} \frac{\sigma_{n1}^2}{s^2(n,l)} \leq 1 + \frac{2d}{lc_1} \sum_{r=1}^l u(r)$$

as required.

Proof of Lemma 2.3 : To prove(2.2) by a standard inequality, we have that

$$\begin{aligned} & \left| \varphi_{n1} \left(\frac{t}{\sigma_{n1}} \right) - \varphi_{n,l} \left(\frac{t}{s(n,l)} \right) \right| \\ & \leq |t| \left(\text{Var} \left(\frac{S_{n1}}{\sigma_{n1}} - \frac{S_{m1}}{s(n,l)} \right) \right)^{1/2} \\ & = |t| \left(\text{Var} \left(\frac{Z_n}{\sigma_{n1}} - S_{m1} \left(\frac{1}{s(n,l)} - \frac{1}{\sigma_{n1}} \right) \right) \right)^{1/2} \\ & \leq |t| \left(\sigma_{m1} \left(\frac{1}{s(n,l)} - \frac{1}{\sigma_{n1}} \right) + \left(\frac{1}{\sigma_{n1}} \right) \{ \text{Var}(Z(n)) \}^{1/2} \right) \\ & \leq |t| \left(\frac{\sigma_{n1}}{s(n,l)} - 1 + \left(\frac{c_3 \{ (m+1)^d - m^d \}}{c_1 m^d} \right)^{1/2} \right) \end{aligned}$$

by (3.2), (3.3), and (3.5). Thus (2.2) follows from Lemma 2.2.

Proof of (2.3) : We use Theorem 1 of [9] to find that

$$\begin{aligned} & \left| \varphi_{n,l} \left(\frac{t}{s(n,l)} \right) - \prod_{1 \leq i \leq m} \varphi_{ni} \left(\frac{t}{s(n,l)} \right) \right| \\ & \leq \left(\frac{t^2}{2s^2(n,l)} \right) \sum_{i \neq j} \text{Cov}(Y_i(l), Y_j(l)) \\ & = \frac{t^2}{2s^2(n,l)} (\sigma^2(n,l) - s^2(n,l)) \\ & \leq \frac{t^2}{2} \left(\frac{\sigma_{n1}^2}{s^2(n,l)} - 1 \right) \end{aligned}$$

Now use Lemma 2.2.

Proof of (2.4) : This follows from Lyapunov's Theorem(see Theorem 7.12 of [2], for example). Just note that

$$\begin{aligned} E(|Y_j(l)|^3) &\leq \sum_{\underline{a}, \underline{b}, \underline{y} \in \Lambda_j} E|X_{\underline{a}} X_{\underline{b}} X_{\underline{y}}| \\ &\leq l^{3d} c_2 \end{aligned}$$

by Holder's inequality , and so by (3.2),

$$\frac{1}{s^3(n,l)} \sum_{1 \leq j \leq m_1} E(|Y_j(l)|^3) \leq \frac{m^d l^{3d} c_2}{(m^d l^d c_1)^{3/2}} \rightarrow 0 \quad \text{as } n \rightarrow \infty,$$

where $\Lambda_j = \{ \underline{a} \in Z^d : (j-1)l < \underline{a} \leq jl \}$, $c_2 = \sup_{1 \leq j \leq m_1} E|X_j|^3$.

Proof of Theorem 2.4. The theorem follows immediately from Lemma 2.3 since

$$\frac{1}{l} \sum_{r=1}^l u(r) \rightarrow 0 \quad \text{as } l \rightarrow \infty.$$

References

- [1] Birkel, T. (1988). The invariance principle for associated processes, *Stochastic Process and their Application*, Vol. 27, 57-71.
- [2] Chung, K. L. (1974). *A Course in Probability Theory*, Academic Press, New York.
- [3] Cox, J. T. and Grimmett, G. (1984). Central limit theorems for associated random variables and the percolation model, *The Annals of Probability*, Vol. 12, 514-528.
- [4] Dabrowski, A. R. (1985). A functional law of the iterated logarithm for associated sequences, *Statistics Probability Letter*, Vol. 3, 209-213.
- [5] Esary, J., Proschan, F. and Walkup, D. (1967). Association of random variables with applications, *The Annals of Mathematical Statistics*, Vol. 38, 1466-1474.
- [6] Lehmann, E. L. (1966). Some concepts of dependence. *The Annals of Mathematical Statistics*, Vol. 73, 1137-1153.
- [7] Newman, C. M. (1980). Normal fluctuations and the FKG inequalities, *Communications in Mathematical Physics*, Vol. 74, 119-128.
- [8] Newman, C. M. (1984). Asymptotic independent and limits theorems for positively and negatively dependent random variables, *Inequalities in Statistics and probability IMS Lecture Notes, Monograph Series*, 5, 127-140.
- [9] Newman, C. M. and Wright, A. L. (1981). An invariance principle for certain dependent sequences, *The Annals of Probability*, Vol. 9, 671-675.